4 3 ~ 2 ‘
EMBOSS TYPE SHEET: REVISIONS
BRAND -
SHORT LONG FLUSH 1 OF 4 [Rev. wo.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
CLOPAY ©130, HDP13 | 9133, HDPL1Z | 9131, HIPFL3 o1 | - [10/28/14 - SH CREATED TDI VERSION.
IDEAL 8130 8133 B131]
HOLMES | 7130 7133 7131
OPTIONAL GLAZING. SEE SECTION B-B
FOR DETAILS.
MAX. SIZE IS 19—1,/2"x16".
— A
# OF D s >
DODOR HEIGHT SECTIONS # OF U-BARSE i
UP TO 7°0° 4 5 i SEE EMD HINGE, VIEW B.
73 T0 8'9" 5 g | @ § | hp—————be— i /
90" 7O 10°6" 6 7
10°9° 1D 123" 7 8 =
126" TO 140 8 2 (o3 | SEE INTERM. HINGE, VIEW C. 5
14°3" 70 15°9" E | 10 et C
16°0" , 10 | 11 Em
MAX SECTION HEIGHT: 21° (5=
= SLIDE BOLT LOCK
o=z ENGAGES INTO
we END VERTICAL TRACK.
= it SHLE, ONE LOCK ON
& i N_TWO POINT LOCKING INTO TRACK. EACH SIDE OF
S DOGR. ‘_
THIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR THE = S i e P
ULTIMATE WIND SPEEDS LISTED BELOW ACCORDING TO THE FLORIDA é&; 5 ey L o stk o M bt resspeny b G EL = e
BUILDING CODE OR THE INTERMATIONAL BUILDING CODE (BASED ON = i R R RN b INSIDE SLIDE BOLT
ASCE7-05) FOR THE FOLLOWING CONDITIONS: 1) ENCLOSED P TR L T A K_OPTION.
BUILDING, 2) DOOR HAS 2' OF WIDTH IN BUILDING'S END ZONE, 3) Evizzozzzizensiil flbsstommmmogiAMi pWfoscomscmesetAlp plldszomomoooodbl OSeTT%P U%QEEAENI%L%EE LOCK OF END
ANY ROOF SLOPE, AMD 4) TESTING IN ACCORDANCE WITH i A el /— STILE.
ANSI/DASMA 108. SITE-SPECIFIC CALCULATIONS BY A QUALIFIED £b ! . EECH SIDE. OF DOGR
DESIGN PROFESSIONAL MAY DIFFER. OPTIONAL OUTSIDE KEYED B | I__ A
DESIGM WIND SPEED <MPH3 120 125 140 LSSt OUTSIDE B
MAX., DOOR WIDTH = 9'-0" HAMDLE. LOCK BAR
EXPOSURE CATEGORY B C B, C B QUTSIDE EMGAGES IM
SHORT PANEL SHOWMN KEYED g’;"ﬁr TRACK OM
. . : : HAMDLE. o EACH SIDE
MEAN ROOF HEIGHT 25 15 30
# OF SHORT |# OF INTERM. § OF LONG |# OF INTERM. OF DOOR.
L DOOR WIDTH DOOR WIDTH
PAMELS  |[HINGES./JOIMT PAMELS  |HINGES/JOINT INSIDE HAMNDLE T
| ITH
CRGETN . 5 0P T 90 5 ! OQUTSIDE_KEYED LOCK WITH F[']-'SE'D;;EL“'SEKIEGK
APPLIES TO FLUSH MODELS ALSO.
" #14x5/8" SHEET MANUF ACTURING PRODUCT CODE
METAL SCREWS DSIU-1A171
DESIGMN LOADS: +33.0 PSF. & —-37.0 PSF. TR
L TEST LOADS: +495 P.SF. & -55.5 P.S.F. PART NO.: N/A A
}i;p}fgédscsﬁ%%gs Unless Stoted Otherwise - nl EEEEI DHEIe4aEEEWL?£E WINDLDAD RATING
loson, b
TOLERANCES o | umm WIOPQAY 1555 55550 \J\/ 5 D P 3 3
0= +.031 Building Producls Compary Fox Mo. 313-770-4853
. 00 = £.013 DESCRIPTION: CLASSIC 1-3/8" INTELLICORE SC +33/-37 PSF
MR o 14 GA. END HINGES 18 GA. INTERMEDIATE HINGE oz 3o [DRAWN BY: SH DATE: 7/14/14 |SCALE: NTS DWG.
s ENGINE%R-' g 3 MIEW "B N Degrees = +£1/2°  [CHECKED BY: -- = SHEET 1 OF 4 |SIZE
MARK WESTERFIELD, Py, 3 pa L & Unless Stoted Otherwise = g
FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS #RE IN INCHES.| DWG. NO.: 104866 JER D)
4 3 - 2 1



4 ~
EMBOSS TYPE SHEET: REVISIONS
BRAND -
SHORT LONG FLUSH 2 OF 4 [rev. no.| ZonE: | DATE: | ECN NO.| APPVD: DESCRIPTION
CLOPAY 9130, HDP13 9133, HDPLI3 | 9131, HDPF13 01 — - - 5H SEE REVISIONM HISTORY OM SHEET OME.

IDEAL 8130 8133 8131

HOLMES 7130 7133 7131

STANDARD ASSEMBLY CONSTRUCTION:
OPTIONAL DSB OR 1/8" ACYRLIC LITES AVAILABLE. OPTIONAL ACRYLIC GLAZING IS
PLASKOLITE OPTIX OR LUCITE CP APPROVED CC2 PLASTIC IN ACCORDANCE WITH IBC/FBC

2606.
THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIAMCE WITH THIS SECTION MEETS THE

WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE COR INTERMATIONAL BUILDING
CODE BUT DOES MOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORNME DEBRIS

REGIONS (REF. CHAPTER 16 FBC/IBC).

SECTION ‘B=B

FRONT FRAME WITH UN. COATING OM
OUTSIDE SURFACE.

MOLDED IMSIDE

LITE RETAIMER. GLAZIMG.

#8x1" PAN HEAD SCREW!

MANUFACTURING PRODUCT CODE

DSIU-1Aa171
DESIGM LOADS: +33.0 PSF. & -37.0 PSF.
TEST LOADS: +49.5 P.S.F. & —55.5 P.S.F. PART NQ.: N/A
Unless Stoted Otherwise - ﬂ' ﬁgﬁﬁ DHEI}E“ESEEEVSF;E WINDLOAD RATING
San,
TOLERANCES o~ |ymm sIOPAa Tel. No. 513-770-4800 \f\/ 5 D P 3 3
L 0 = %.031 Bulding Products Company Fox Mo, 513-770-4853
iy s {igg = %-gég DESCRIPTION: CLASSIC 1-3/8" INTELLICORE SC +33/-37 PSF
0, R e 0000 = %001 |DRAWN BY: SH DATE: 7/14/14 |SCALE: NTS OWG.
DESIGN ENGINEERsg, .\ +* Degrees = +1/2° [CHECKED BY: -- DATE; -- SHEET 2 OF 4 [SIZE
MARK WESTERFIELD, P.E. mem Unless Sioted Ofherwise i : oy
FLORIDA P.E. #48495, NC P.E. #23832 TEXAS P.E. #91513 DIMENSIONS ARE 1M INCHES. | DWG. MNO.: 104866 VER: TDI

4




EMBOSS TYPE SHEET: REVISIONS
BRAND
SHORT LONG FLUSH 3 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
CLOPAY 5130, HDP13 | 9133, HDPL13 | 9131, HDPF13 01 = = o s SEE REVISION HISTORY ON SHEET ONE.
IDEAL 8130 8133 8131 =) " 1-3/8" THICK
HOLMES 7130 7133 7131 URETHANE CORE
DEMSITY 2.4 P.CF. D
§ \1
IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR MEAR THE DOOR OQPENING 1
LOCATION THERE ARE TWOQ ACCEPTABLE ALTERMATIVES:
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6
SOUTHERN YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE "
— SUPPORTING STRUCTURE TO CREATE THE MOUNTING SURFACE. ;%LEEE %ﬁéKSETTEEEAéEP ik
ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED DIRECTLY TO THE I :
SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF SCREW HOLE 27 GA. MH"';‘I'%HSTBEAE;E&E‘; Egﬁggi&“'f P E?igg%ﬁ;ﬁ}ﬁ?ﬂ E%qu
2}IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING
STRUCTURE (WDOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE TONGUE AND GROOVE JOINTS.
WOOD BUCK OVER SHALL BE INSTALLED THE WALLBOARD FRAMING THE |
OPENING USING THE JAMB ATTACHMENT FASTENERS LISTED BELOW. HOWEVER, / 14 GA. GALV. STEEL ROLLER
THE JAMB ATTACHMENT FASTEMERS MUST BE OF A SUFFICIENT INCREASED HIMGE. EACH FASTEMED TO EMD
LENGTH TO ACCOUNT FOR THE THICKNESS OF THE WALLBOARD TO ENSURE C

PROPER FASTEMNER EMBEDMENT INTO THE STRUCTURAL FRAMIMNG MEMBERS
OF THE SUPPORTING STRUCTURE.

[——I—]:"E" FROM EDGE

Ly T—1

/
VAR .

HEOIOITT

STILES W/(4) #14x5/8" SHEET
METAL SCREWS AND (4) 1/4"%3/4"
% SELF TAPPING SCREWS

3" TALL x 20 GA. GALV. STEEL U—BARS, OME AT THE
! TOP OF EACH SECTIOM AND OME AT THE BOTTOM OF
THE BOTTOM SECTION. EACH U—BAR ATTACHED WITH
(2) 1/4"x3/4" SELF TAPPING SCREWS AT EACH HINGE
LOCATION.

\ 27 GA. STEEL GALV. INTERIOR SKIN

¢

WITH A BAKED—OM PRIMER ANMD A B
PREPARATION OF JAMBS BY OTHERS. BAKED—ON POLYESTER PAINTED TOP COAT.
VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS):
3/8"x3" LAG SCREWS ON 24" CENTERS. 1-1/8" 0.D. WASHER REQUIRED. LAG SCREWS
MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. 13 GA. GALV. STEEL BOTTOM BRACKET.
HORIZONTAL JAMBS DO NOT TRANSFER LOAD. ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.
VERTICAL JAMB ATTACHMENT (C—90 BLOCK OR 2,000 PSI MIN. COMCRETE COLUMMN]: ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.
3/8"x3” SLEEVE ANCHOR BOLTS ON 24" CENTERS (2,000 PSI MIN. CONCRETE). —
WASHERS INCLUDED WITH SLEEVE ANCHORS. SECTION A-A (SIDE VIEW)
OR
1/4"x3" TAPCON SCREWS ON 21" CENTERS (2,000 PSI MIN. CONCRETE) OR 12"
CENTERS (C—90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS. ECTCL
ANCHORS MAY BE COUNTERSUNMK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING of TE, ' MRl UG FREA S
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LCAD. wrees ! DSIU-1A171
DESIGM LOADS: +33.0 P.SF. & —37.0 PS.F.
TEST LOADS: +49.5 P.S.F. & -55.5 P.S.F. PART NO.: N/A A
OTHER JAMEB CONEIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGM Unless Stoted Otherwise -[:I 8585 Duke Boulevard WINDLDAD RATING
PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERMNATE FASTENERS AND/OR TOLERANCES o |umm WIOPAY Vo= 4,550 5% |, 5 D |:) 3 3
JAMEB COMFIGURATIONS. 0= %03 Buikding Products Company Fox Ho. 513-770-4853
00 = i-g;g DESCRIPTION: CLASSIC 1-3/8" INTELLICORE SC +33/-37 PSF
000 = £,
DESIGN ENGINEER: Degrees = £1/2  |CHECKED BY: -- DATE: —- SHEET 3 OF 4 |SIZE
MARK WESTERFIELD, P.E. Unless Sioted Otherwise i ]
FLORIDA P.E. #48495. MNC P.E. #23832, TEXAS P.E. #91513 | DIMENSIONS ARE IN IMCHES. DWG. MNO.: 104866 VER: TDI




3" TRACK IS ALSO AVAILABLE.

SCREWS.

LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
ATTACHED WITH [2) 1/4" x 3/4" SELF TAPPING

DOUSLE TRACK

BRAND EMBOSS TYPE SHEET: REVISIONS
SHORT LONG FLUSH 4 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.[ APPVD: DESCRIPTION
CLOPAY 9130, HDPI3 | 9133, HDPLI3 | 9131, HDPF13 a1 - — - - SEE REVISION HISTORY OM SHEET OME.
IDEAL 8130 8133 3131
HOLMES 7130 7133 7131
i DOOR COUNTERBALAMCE SYSTEM
2" TRACK CONFIGURATION, e JAMB CONFIGURATION.
e z = —¥ HORIZONTAL TRACK
13 GA GALY. STEEL FLAG BRACKET ATTACHED TO DOOR SUPPORT BY DOOR
I JAMB WITH (3) 5/16" % 1-5/8" LAG SCREWS HEIGHT | "L | INSTALLER (TO surm).
[ AND TO TRACK WITH (2) 174" RMETS. 5—5° 70°
= T 3 2¢6 SYP WOOD JAMB. SEE OPTIONAL STOP MOULDING BY INSTALLER (TQ SUIT).
MOTE: TRACK COMFIGURATION = ?-_E» QS» ";wa PREPARATION MOTE". o s : j
ABOVE THE DOOR OPEMING DOES i 41— A5 ROD: SPACING NTE 307 O.C. 5—0" 8a" g 20 GA GALV. STEEL END STILE.
NOT AFFECT THE WIND LOAD T e = 3
RATING OF THIS DOCR. = g."g.. 133., |} |
: T 21/ % 12 6h on. sEEL 3
I EV i 10'-0"112" TRACK BRACKETS FASTEMED TO ]
- 10—6"118" WOOD JAMBS WITH 5/6" % 1-5/8" 18 GA. GALV. STEEL CENTER HINGE
= i 11 =0 124" LAG SCREWS. FASTEMED TO DOOR W/(4) EACH #14x5/8"
o L 11T —6"1130" SHEET METAL SCREWS.
& 3642 TYP. 2-1/2" X 12 GA GALV. 12—0"[136" NT——
2 STEEL TRACK BRACKETS. 17 —6" 142" 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/l4) #1&x5/8" SHEET
;i_l ATTACHED TO JAME WITH (1) 13 —0" |148" METAL SCREWS AMD (4) 1/47 SELF TAPPING SCREWS PER EMD HINGE.
& 5/16" ¥ 1-5/8" LAG SCREW PER 13'—-8"]154" 2" GALV. STEEL TRACK FASTEMED TO
TRACK BR i 4'— " 12 GA GALV STEEL TRACK BRACKETS
PRI SRACHE] 1-@'_2 :gg" WITH EMMHER (2) 174" Da. RIVETS OR 2" DIA. SHORT STEM 10 BALL STEEL ROLLER WITH STEEL OR MYLON TIRE.
15 =0"[172" (1) 174" ¥ 5/8" BOLT & WNUT PER
16'-0"]184" e
PREPARATION OF JAMBS BY OTHERS.

LOW HEADROOM OPTIOM

DOUBLE HORIZOMTAL
TRACK.

DESIGN LOADS: +33.0 PS.F. & —-37.0 PSF.

TEST LOADS: +49.5 PS.F. & —-555 PSF.

MANUF ACTURING PRODUCT CODE

DSIU-1Aa171

PART MOz N/A

4

Unless Stoted Otherwise | [P 8585 Duke Boulevard WINDLOAD RATING
TolERACES o« |mmBlOpay e S0 |\ S P33
0 = +.031 Budding Products Company Fox Mo, 513-770-4B5]
533 - :gég DESCRIPTION: CLASSIC 1-3/8" INTELLICORE SC +33/-37 PSF
. R R i o 0000 = £.001 DRAWN BY: SH DATE: 7/14/14 [SCALE: NTS DWW,
DESIGN EFNGINEER;;J.“ g Degrees = +1/2° |CHECKED BY: -- DATE: —- SHEET 4 OF 4 [SIZE
ES{TI;{IDM:EPS.TER?EEEQ;IEﬁcrﬂﬁ.gﬁ;zjsjz, TEXAS PE. #91513 Lé?diﬁsu%ﬁ?iﬂ%ﬁﬁrfffHEs DWG. MNO.: 104866 YER: TDu
- 1



